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) ' Pz(Ez)
(E;
Pl

P(E+E,)
P

(2) ,
) P(E)

P(E

E2

(2) .

(3)



P,(E) - PXE,) = P(E;+E)) (4)

E, P,'(E,) - P,(E,) =P (E,+E))
= P,(E) - P, (E)) =P (E,+E))
El E2
Pl’(El) ' Pz(Ez) = Pl(El) ' Pz’ (Ez) (5)

1 dP(E)__ 1 dR(E)_
Pl(El) dEl PZ(EZ) dEZ




dp, (E,)
P,(E,)

=dIn[P,(E,)] = - bdE,

In[P,(E,)]=-bdE,- C°
P.(E,) = e Ph

P(E) =e“PF (6)



100%.

2iP=1 (7)
S P(E)=3 eCtE=1
ec.y ePEi=1

e=3 ebE (8)



Q=€=y ePE (9
Q

eP Bl

Q: Boltzmamn

B =UKT (10)
3 , Q

Q=3 e (1)






e EI/KT



U

(3)

U= E =2X,;PE
= ; E (UQ)ekkT
KT2(? Q/7T)\yv

= kT2 (UQ) (?T)[Y ; €EX )\

= kT2 (UQ)Y eE/KT(-E./K)(-1/
=3 (E/Q) e5KT
1 @ :

‘)

U=KTq? Q/7?T]\v

(13)

(14)

(15)



F= kT Q (16)
KT2(? (F/IKT) /7T)\ v
=-kT2(?/?T (-KT  Q/KT))\yv
=kT%? Q/?T)\v
=U (17)
dF = SdT pdV
KT2(2?T (F /KT))ny
=-kT2[(F /K)(-UT2)+ (UKT)(?F /?T)]
=F +TS ?2F [?7T= S
=U (18)



® (6 . :
| 2((F F )/kT)/?T], =0 (19)
F F

P(E)/ P,(E,) = e (Ei-EQ)/KT

lime 52K ® ¥ =0
T® OK
Q(OK) — Z e—Ei/kT :gge'EO/kT+gle'E1/kT+92€E2/kT+. 3
— goe-EO/kT(1+S gi/goe-(Ei EO)/kT) i=1.2...
— go e—EO/kT (20)



F OK

F(OK) =

(24)

KT (9,eE9%T)=E, Tk g,

S(0K) =k g,

FOK)=E, TS,
F(OK)=F (OK)

F= F

0=1
S(0K)=klIng,=0
(21) OK

(21)

(22)

(23)

(24)



S:
S=U FR)IT
S=kT(? Q/I7T)yw+tk Q (25
T =0K
S=KT[?/?T In(g,eE%T)]y v + kIn(g, eEYkT)
KT 2I?T (-Eo/kT) + king, K(E//KT)
KT(Eo/K)(UT?) + Kklng, EJT
KIng,

p = -(?F/?V); F=-kTInQ
P = KT(2AnQ/?V)+ (26)



H=U+pV
= KT2(2InQ/?T )y y+K TV (2AnQ/?V)1
H = KT[(2nQ/2ANT )y, +(2NQ/AnV) ] (27)

G=F+pV
= -kTInQ+kTV(2AnQ/?V)

G =kT(?InQ/2nV  InQ) (28)



U=kTq? Q/?T]\y
H=KT[(?nQ/?InT) ,+(2AnQ/2INV); ]
S=kT(? Q/?T)y,+tk Q

F=kT Q

G =-kTINQ+kTV(?2AnQ/?V)

p =k T(2InQ/?V)-

(15)
(27)
(25)
(16)
(28)
(26)
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o .
Q:a_ eE;/kT (J
:éj o ( 1+T 2+>>>+Ti+>>s’:)/kT
J . .
= 8 (e 1T g 2/ KT T
J
o | /KT o -l /KT
=(@ae " )»qae ")
i i
o _-|./kT ]
q° a e q:



N
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Q =q™/N! (1)
1/N!

INQ =In(gN/NV)
=NIng In(N!) ( N=N N N)
=NIng NInN+ N

INQ =NIn(eq/N) (2)

(2)



U
U=KT2(? Q/?T)y,
=KTZ (27T)  (eq/N)My,
= NKTZ[ (2/2T)  (eq/N)]
=NKTZ? q/?T]y, (3)

F= kT O
= kT (eg/N)N
= NKT (eg/N) (4)



S=(U F)/T
=NKT(? q/?T),,+Nk (eg/N) (5
G
G=NKT[(? q/?nV);y  (eq/N)]
= NKT (eg/N) + pV (6
P.

p=NkT[? q/?V];, (7



U=NKTZ? q/?T],
F= NKT (eg/N)

S=NKT(? q/?T)y,+Nk (eq/N)
G= NKT (eg/N)+pV

p=NKT[? q/?V];



q:Z ie— i/k'.l'
=3 ge
I :
I

N.=PN=Ne *T/q
=Nge *T/q
g |

9



N/NO: e I/kT/ e O/kT
I

= e( i- O)KT

— b kT
A >0; kT >0
N. /N, <1

T > 0K




(i) T-O0K
im Ni = lim ed kT=gw =(

Teok No T® 0K
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[im e
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(iif)
N/N,=g/g,e ( ' 9kT<]




(i) T <OK, ,

N/N,=0g/g,e ¢ ' OkT>1 (T<0)




S 4. Boltzmann

(Bose particle):
(Fermi particle):
Bose-Einsten
Bose

(U V T )






0 00 000
\—
'
| (Gi+Ni  1)!
H_/
g(g +N; 1)




W.=gi(g;+N; D! /(g)(N;)!
=g(g+N;, D!'/g(g DN,
=(@+N, D'/(N)(g 1)

N. ;

W=PW;=P[(g+N, D!/NXg-D!] ()

Q=2 W
:S[Pi (gi+Ni'1)! / Ni!(gi'l)!] (2)

> N.=N
>N, =E



N=g/(ea* T 1)

b=1kT a

Fermi Dirac

NG} 0 i

>  N=N

(3)



i W
W;=C,;N=g!/N!(g; N)!

{N:} W .
W =P;[g!/N!(g N)!] (4)

Q => W=S|[P, [gi! /Ni!(gi N|)I]] (5)

N; =g /(e " '+1) (6)
B3 =UkT;:a N, =N



Boltzmann
g >>N. Bose-Einsteln
Fermi-Dirac

g>>N; g>>1 N+g 1= g9

W.=(g+N, DUNI(g 1)
=(@+N, (g+N, 2)...g-(g-1)!/N!(g-1)!

= G'g;--- G /N
= g M /N (7)
{N} :

W =[1; (g M/ N} (8)

Q=W (£ N=N; £ NI =E) (9)



W =[T; (g, "/ N;")
INW=3 i(N;Ing; N;InN; +N;)

f=InW=3 i(N;Ing, NInN;+N;)

y1:ZiNi
y2:ZiNi

%/2N.=Ing,

N, =0
E=0

INN,  N/N.+1

=In(g; /N,)

2y,/7N, = 1
?YI?N; =

(10)

(11)
(12)
(13)

(14)
(15)
(16)



(15
(-b), (14)

ng/N,+a [ ;=0
ng/N.=-a +3

nN./g;=a [
N./g =e* B |

a, (16)

(17)



S N, =N
> ge* P =N
e“(Zge P =N
e“=N/Z ge P (18)
. B =UKT
q=>ge " !
=3 g e i/kT (19)
g , (17)
N."=Nge T /qg (20)

(20) Boltzmann
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Boltzmann

S=k WEKINW,__
W

max-

Boltzmann
W:ﬂ i(giNi /Ni!) = |_| i(egi/Ni)Ni
W= N. (egi/Ni)
=2 N. [1+Ing;-InN; ]
N; = (N/g) g & "



S=k W
=3 Nk [1+Ing, In((N/g)g.e "<T)]

=5 Nk{1+Ing In(N/g)> Ing,+ /KT]
=5 Nk[ (eG/N)+ /KT]

=( N, )/T+> Nk (eg/N)
= U/T +Nk (eg/N)
=U/T FI/T=S



OK

NO

W =[TgN=(g)VN=1"=1
S=kinW =kln1=0 (T - 0K )
0K |
; OK ,NO

NO ON NO NO ON...
ON ON NO ON ON...

2 2
S=kIn2N=NkIn2=RIn2
=576 J.K-1.mol-1



S 5.

q
g= > e /KT
:(Z e i/kT)n(Z e i/kT)e(Z e i/kT)t(z e i/kT)r(Z e i/kT)V
q — qn'qe'qt'qr'qv (1)
q

F=-NKT g=-NkT q-NkT g, -NkT q,-NKT q-NkT q,
F=F, +F_ +F +F +F, (2)



qn:Z gle-T S
— gOe-T o/kT(1.|. gllgoe-( 1 o/kT +gi/goe- KT 4 )
DI >>kT

eDlikT=

qn — g()e O/kT (3)
o= 0

q.=9,=2S+1 (4)

S .

n"

On-



g.=2 €

:goe

= goe

Jo

Qe =

/KT

o/kT(1+ gllgoe

o/KT

Yo=

2J +1

J=0 g-=1

He

Na
Yo

Ti
Yo

T )
(%)
(6)
Pb CI
0 3/2
1 4



. =h#/8m(n,*/az+n,2/b*+ n,/c?)

Tl T ;
h: .

n=123, ...

Y SHENZgc S

n=1, 2,3, ...



. =h#/8m(n,?/a+ n ?/b*+n2/c?)
a=b=c
.=h?/8m" 3/a*=3e
Ol (e, i E S
.=h?/8m’" 6/a*=6e

n.=2,n~=1n,=1

g,=3 { M=l =2 =1

s =1 [, =15 =2
.=h2/8m" 9/a*=9e

n,=2,n=2,n,=1
g,=3 { n,.=2,n,/~1,n,=2

n,=1,n,~2,n,=2



ng n2
qt: é e_eit/kt = é 8mkt(a2 b2 c? 2
i Ny.,Ny,N,
h? ng h? ny h? n2
= (a e 8mkta’? )(a e 8mktb2)(a o 8mkt ¢? )
% Ny n,
h? n2
o)
th = ae - 8mkt a2 —a e ? o 2:h2/8kaa2

Ny

\¥ -
g/= g <dn,,

Q
\/p_ 2mkip

Y h?

xa



d,=(2pmkT/h%)%¥2-a:b-c
=(2pmkT/h?)%2.vV abc=V  (7)

y=f(ny)




1.U
U=NKT?2[2ng/?T]y v
=NKT2{?/?TIn[(2pmk/h?)32 .\ -(T)3’2]}N,V
=NkT2-3/2-1/T =3/2nRT

U _= 3/2RT (8)
2.Cy
Cy »=(?UI?T),=3/2R (9)
,C,.= 3/2R.
3. F:

F=-NKT In(eg/ N)
= -nRTIn[(e&/N)( 2pmkT /h2)32V]  (10)



4.S
SS(U F)IT =(UT)@2nRT)+(L/T)NKT (eqg/N)
=3/2nR+Nk  [(e/N)(2pmkT/h2)%2.V]
V=RT/p m=M/N,
S, =R{ [(2kp/h2)32k/N,2:p?]+3/2inM+5/2InT ~ (p/p°)+5/2}

S = R[32InM +5/2InT In(p/p®) 1.165] (11)

(11) , J.K-t.mol-1.
M:
T:
p/p°:



: 0
p=-TF/MV = (T/MV)[NKT  (eq/N)]
p= NKT (1/9V){In[(e/N)( 2pmkT/h2)32.\V]}
= NKT(L/V) =nRT/V
pV=nRT (12)




Q=3 et
=(x e ®UNY
=g (UNY) = (eq IN)!

q=x e "
=3 i exp(-(h4/8m)b(n,4/a*+ n b+ n 2/c?))
=(2pm/h2b)32V



p=(N/b)(?Inag/?V) \
= (N/b)[?2/?V(In(2pm/h?b)32)+In V)] 1 \
=N/(bV)

pPV=nRT
P=nNRT/V=NKT/N

NKT/V=N/(VDb)
KT =1/B
B = UKT



208.15K 1P®  Ar S.® M, =39.92

Sm=R(@GB/2nM +52InT —InP/P°® —-1.165)
= 8.314(3/21n39.92 + 5/2In298.15 — In1-1.165)
=154.7 J-K-t:-mol-1
Ar S.2 =154.6 3 K--:mol1



= (h%8n 21 ) J(I+1)
J=012...
g,=2J+1 J



- J(J+))

¥
=Y ge " =g @+he W

h2

2 8p ki

J=0



op

€D

y=J2+J
dy=(2J+1)dJ

(2J+1)e ' Tqg

Qy/Tdy

T
— X Qy/T |§

Q,

- l)(o_ 1):L

Q, Q,



- qr :
qr :eO+3e-2Qr/T +5e-6Qr/T +7e-12Qr/T T+ K

& 1(x) = T 00k +1F(x,) - 1(x,)]- i[f txo) - 14, )]

+i[f ix,) - FUx,)]-

302 0
q, = l+1+i Q (Qf)2+><><x
Q 315 T 34T
Q
H, O, N, NO Cl, ,

85.4K 2.0/K 2.80K 242K 0.346K 0.054K
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0 :LZSpZIkT
" sQ, sh?
s =1
s =2



VP

802KT .3
q, = (IO

)2



» U, ,=RTMIng/MT]=RT4MIn(T/(sQ,))/1T]

=RT4(1/T)=RT
* Cy = [TUAT]=R
e F= RTIn(g)

* S ,=(U F)/T=RIng, +R

=RIng, +R
=RIn(eq,)



V:- [n + (1/2)]h?

On =

- e—(1/2) hn/kT 4 e—(3/2)hn/kT + e—(5/2)hn/kT -
= gWhKT[ 1+ ghn/kT + (ghnkTy24 ]
l+a+a?+as+...... =1/(1 a)

qV:e-(1/2)hn/kT[1/(1 e—hn/kT)]



: oy =0
qv*:ll(l e—hn/kT)

1

Q,=hn/k
.1
qv _1_ e.QV/T
Q
o
qv =€ ! 1- e_QV/T
B 1
B Q
29h(—
(T)

eQ\,/2T _ e-QV/2T



H, N, O, CO NO HCI
Q/K: 6100 3340 2230 3070 2690 4140

3n:5,6 1
— - hn; / 2kT
dv = Ql € xl- e-hni/kT
. 3n;»,6 1
qv = q 1. @ Mi/kT
H,O 3n-6=3 ( )

CO, 3n-5=4 ( )

HBr
3700









q —9.2 € /KT

= ( )

[
~—~~
~—r



§ 6

U, = 3/2RT
Cy n=(?U/I7T),=3/2R
U= NKT2(?/?T)In(T/sQ,)
= NkT2(1/T) = NKT
C, ,=(?U/?T),,=Nk=R
» Cym=32R; C, =52R; ¢=3/3
Cym=92R; C  =72R; g=14

. Cym=3R;, C,.=4R;  g=4/3



A Dulong-Petit
Cyn=3R=24.9 J-K-1tmolt
B C, T3(T-O0K)

Einstan
(1) Einstein



3N ,

Einstan 3N
3N

’”~

| = (n+ U2)h?

3N



Qg=hn/k Qk:
ng: Einstein
U =3NKkT?[?Inq /?T], \
= 3NKT2{(?/?T)In[eMme/&T/(1  ehnekTy[L |,
= 3NKT2[?2/?T (=hng/2kT) = 2/?TIn(1  ehnekT)]
=3NkT2{(-1/T?)-(-hn/2k)
[-eekT/(1 eMeRT)](-hng/k)(-UT2)}
= 3NKTZhng/2kT2 + hn/kT2[enekT/(1  ehnekT)]}
= 3/2Nhn¢ + 3Nhng/(e"ekT 1)
U = 3Nhng/(e"ekT  1)+E,

E.= 3/2Nhng



Cy ,=(U,/?T)y
= 2?T[E,+3Nhn/ (eMekT 1]
= [-3NhNg/(eKT  1)2] €n<kT (hng/K)(-1/T2)
= (3|\|h2nE2/kT2).[ehnE/kT/(ehnE/kT 1)2]
= 3NK( hnE/kT)Z.[ehnE/kT /(ehnE/kT 1)2]
= 3Rx2 [e¥/(e  1)?]

X=hng/kT



T - 0K, .
x=hn/kT = oo T=0K
lim 3Rx2 [e/(e¢  1)7]

X5 o

= 3R lim (x?/eX)

X5 o0

=3R lim (2x/&9) ( )

X -

= 3R lim (2/&X) - 0 ( )

X500

C, . =3Rx2[eY(e* 1)2 -0 (T 0K )



(2)

T 00,
X=hng/kT - O
Cy m=lim3Rxz.ex/(e¢ 1)
e = 1+x+x?/2!+...= 1+X
Cy m=3R:limx2(1+x)/(1+x 1)
=3R(X?/x?)
= 3R

3R.
Einstan

1+X =1

3R
3R,



Debye
3N O n

m

C,m=3R[4D, 3xy/(e® 1)]
Dy = (357 o x3dx /(e 1)
X = hn/kT
Xp=hng/KT
Np
hnpy/k=Qp  ( )
Debye
C,,=3R
C, =234kT3/Qp®
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Q:?lflz%---CIN
— q)Nl(qZ)NZI.. IYNi FYNr
QD @@ I



Q=2<N—j .
ageeJ/kT J

F=-KTInQ=- kTIn[O (_qJ) ]

j=1 j

o) € 2
=-a NkTIn(—q,)=-a n.RTIn( a)
j j N J nN, "’

j J J



M= (PF/?N) 1 v njz |
= (??n)[-2 n,RT In(eq;/n;N,)]
=-RTIn(eq/N,) nRT(-1/n)

= -RT[In(eq/N)-1]

m=-RTIn(q,/N;)
q;: |
N:: i
Qi |



P V),

q .
. g :fi-V:fi(NikT/pi)
f:: of Y
q,=f.(N.kT/p))

m=-RTIn (fNKT/N,p.)
= -RTIn[(f kT/p)(p%p°)]
= -RT[In(f;kT/p%)+In(p%p))]
= -RT In(f kT/p® +RT In(p/p°)
= m%+ RT In(p,/p°)

mP= -RTIn(f kT/p°)



0V _=RT =N, kT
09=N KT/
9= -RT (f.KTV_/N,KT)
=-RT (f.-V/N,)
=-RT (q,%N,)

q0 |

1mol i |



G
=F+pV
=-NKT (eg/N) + NkT
=-NKT (g/N)
=-nRT (g/N)

=-> nRT (qg/N;)

=2 nm
m=-RT (q/Ni)



1. CO Q.=2.8K,
?

1 =J(J+1)h2/ 8p2

 g,=2J+1  J=01,23, ...

qr:Z (2J+1) -e"](J"'l)Qr/T
N.=(N/q,).gJ-e+DQr/T
(N/N).g,=g,€ 0+ DT

T N  q . T=240K
Ni J J :
. f(T)=(N,/N)-q,=g, e20+Dr/T
f(T) N, .
f NJ J

240K , CO

Q,/T=0.01167



> {1f/913=0
ﬂ/ﬂJ[(2J+1)e-o.01167J(J+1)] =0
g 0.01167)(J+1)4(2]+1)g0.011673(3+1) (-0,01167)-(2]+1)=0
g00L16733+I[2  0.01167(2J+1)2=0

2 0.01167(2J+1)2=0

(2J+1)2= 2/0.01167 =171.4

2J+1=13.09  J= 6.05

J=6 (J , )

CO J=6



2: : :
, 0=1, 9,=2.
(1)
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=0.424RT
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300K

10%
0,=1

N,/N=e T/q

=~ @ ]./kT/(e— 0/kT.|.e— 1/kT)
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2

o), 0 e /T
T ﬂ (er/T 1)2

Cy m'=R(3700/1000)>] e3700/1000/ (g3700/1000  1)2]
=2.96 J.K-1molt
1000K
C,=3/2R+R+2.96=23.74 IK-1mol-.
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298.15K:  3.26 3.28

6/0K: 3.78 3.78
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